Grade 5 Module 3: End-of-Module REVIEW
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1. On Sunday, Sheldon bought 31 5 kg of plant food. He,usedll kg on his strawberry plants and{use 4 L kg

for his tomato plants.
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a. How many kilograms of plant food did Sheldon have left? Write one or more equations to show how
you reachedéqur answer.
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b. Sheldon wants to feed his strawberry plants am and his tg’mato plants
He will use the sg punts of plant food as before. How muchiplant food will Fe need? Does he
havefenough leftftodoso? Explain your answer using words pictures, or numbers.
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